ENCH 501 F2017 Quiz #1 Name:

September 19, 2017 Time allowed: 35 minutes al

1. Three numbers (x, y, z) form an arithmetic progression. That is, they differ by a constantin a
series (e.g. y-x = z-y). Three other numbers (a, b, c) form a geometric series. That is, one is
multiplied by a constant to get the other one in the series (e.g. b = Ba, c = Bb). You are given the
following: x+a=85y+hb=76,z+c=84andx+y+z=126.

What are the 6 numbers?

2. Given; u= a+by+cy?+dy®> where a, b, cand d are constants,

du d?u

and the conditions: y=0,u=0; y=6,u=Uqy; y=56, d—y=0; yv=0, d—yz=0,

obtain an expression for u as a function of U, & and y.
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